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Module question (m,n : integer); 
      if n < 0 then  
            a := -n // "��#$� ����% n �#��ก&' 6 

      else // #$�ก��(�() #� 
            a := n // *&��&)� "*�  a = 6 
      k := 0  
      x := 0 
… 

 �'ก��#$���������() "*� a = 6 , k = 0 , x = 0 , m = 0 , n = 6 
… 
      while k < a 
      begin 
            x := x + m 
            k := k + 1 
      end 
… 

 *&��&)���� ก��#$����4������() #(5	�� k = 0,1,2,3,4,5 
 *&��&)�	$��&5� x := x + m �%#$�#&)�9�* 6 	�&)� 
 "*�  a = 6 , k = 6 , x  = 0 , m = 0, n = 6 

…  
    if n < 0 then 
            question := -x 
    else 
            question := x 

 *&��&)� question = 0 
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��*(��ก&� ก�
��������� while ���"*�	������E*&��() 
 a = 6 , k = 0 , x = 0 , m = 6 , n = 6 

… 
      while k < a 
      begin 
            x := x + m 
            k := k + 1 
      end 
… 

 	$��&5� x := x + m �%#$����#&)�9�* 6 	�&)� 
 *&��&)� question = 6 * 6 = 36  
 �
'��
 	. 
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 3 GH�ก�I&�ก��#$����4�����#(5��J����� while #$�����9�K
�ก&'ก��	L� |n|  �% m  ����$�N��กO'"��
4��&� �� x  �%�(ก���
������	�K5
�9����
�	$��
'��ก��K5
�"���
��ก���� while *&��&)�GH�ก�I&��() �P�
��J�ก��9�N�	L� m  �% n 
�
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 5 49� a = -91  �% b = 287 

Module question2 (a, b : integer); 
      x := a 
      y := b 
      while y <> 0 
      begin 
            r := x mod y 
            x := y 
      y := r 
      end 
      question2 = x 

 �
�����	���
��&� �� ���%�&�4��%9����ก��#$����*&���
"��()  
�
'ก��#$���� x y r 
ก�
��������� -91 287 - 
�
'#(5 1 287 196 196 
�
'#(5 2 196 91 91 
�
'#(5 3 91 14 14 
�
'#(5 4 14 7 7 
�
'#(5 5 7 0 0 

 ��� ก���'ก��#$����9�&�#$�����
'#(5 5 ��K5
���ก y �(	���#��ก&' 0 WP5�#$�49���K5
�"�4�ก��
#$����4�����"����J���
�  �%"*� question2 = x = 7 
 9�กNL�
����	�XPกY���K5
�ก��9��&�9��������ก (9.�.�.) *����
\(ก���
��L	�
* NL�
����%�9O�"*�I&*���
GH�ก�I&��()��J�ก��9� 9.�.�. *����
\(*&�ก����  ��9�กNL�
���"���	�XPกY���K5
��()��ก�
� กO
���
� #�	�� a 
 �% b ����Eก&�  �%�&��ก�N���กก��#$���� กO�%#��'"*��I���*(��ก&���� N���กก��#$�����
�GH�ก�I&��()
��J�ก��9� 9.�.� 
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 6 ��K5
���ก���#��' ������ GH�ก�I&����������J�ก��9� 9.�.�.�
� a  �% b  
 *&��&)�	$��
'��
�()�P���J� 9.�.�. �
� 252  �% 198 = 18 
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 ก��(#(5 1  ��
	����P)����*��� 1 9�K
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 *&��&)� �$������
	���	������ n #(5�( 0 �
*ก&��
��&� = 2 * �$������
	���	������ n-1 #(5�( 0 
�
*ก&��
��&�4�ก��(�() (����%��K
ก�&���
5����"*� 2  '' 	K
 1 9�K
 2) 
 ก��(#(5 2 ��
	����P)����*��� 0 
 *&��&)� �$������
	���	������ n #(5�( 0 �
*ก&��
��&�  �ก"*�
(ก��J��
�ก��(	K
 
  ก��(#(5 2.1 �P)����*��� 00 �(#&)�9�* 3n-2  
  ก��(#(5 2.2 �P)����*��� 01 9�K
 02 �(#&)� 2 * �$������
	���	������ n-2 #(5�( 0 �
*ก&��
�
�&� 

ก$�9�*49� f(x)  #� �$������
	���#(5�( 0 �
��&��
*ก&��$�9�&' Ternary String 	������ x 
��(����J�	����&��&�\���(���ก
* "*� f(n) = f(n-1) + f(n-2) + 3n-2  

 f(1) = 0  ����%"���(��
	���4*E���#(5�( 0 �
��&��
*ก&� 
 f(2) = 1 ����%�(ก��(�*(�� 	K
 00 
 f(3) = 2*f(2) + 2*f(1) + 31 = 0 + 2 + 3 = 5 
 f(4) = 2*f(3) + 2*f(2) + 32 = 10 + 2 + 9 = 21 
 *&��&)� �(#&)�9�* 21  '' 
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�����	���
� x 9�&� ���%�
'ก��#$����4����� for 
  

�
'ก��#$���� x i 
ก�
�#$���� 1 - 
�
'#(5 1 1 1 
�
'#(5 2 1*2 2 
�
'#(5 3 1*2*3 3 
�
' 4  1*2*3*4 4 
a a a 
�
' n 1*2*3*4*a*n n 
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I) 
Fact = n * Fact(n-1) 

 ก��(�() �%�9O�"*���� ก��9�	���
� Fact(n) �%�(ก����(�ก4I� Fact(n-1)  �% Fact(n-1) กO�%��(�ก4I� 
Fact(n-2) "���K5
�E"���
)��e* *&��&)���� ก��#$����"��"*�4�ก��(�() 



 
II) 
if n <= 2 then 
     Fact = 2 
else 
     Fact = n * Fact(n-1)      

 ก��(�()�����f#$����"*�fLก��
�#eก n >= 2 �
�����"*�*&��() 
 Fact(2) = 2 = 2! 
 Fact(3) = 3*Fact(2) = 3*2 = 3! 
 Fact(4) = 4*Fact(3) = 4*3! = 4! 
 a 
 Fact(n) = n*Fact(n-1) = n*(n-1)! = n! 
 *&��&)� ก��( �����f#$����"*�fLก��
�#eก n >= 2 

III) 
if n = 1 then 
     Fact = 1 
else 
     Fact = Fact(n+1)/(n+1)      

 �%�9O�"*���� Fact(n) �%��(�ก Fact(n+1)  �% Fact(n+1) กO�%��(�ก Fact(n+2) "���K5
�E  �%#$�49�
GH�ก�I&��()#$����"���
)��e* 
 *&��&)� GH�ก�I&�#(5fLก��
�#(5�e*	����J�GH�ก�I&�#(5 2 
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T(0) = 1 
T(1) = 3 
T(N) = 2*T(N-1)-T(N-2) ��K5
 N > 1    

 49� G(N)  #� �$����	�&)�#(5 T(2) fLก��(�ก4�ก����(�ก T(N) 
 ��ก	����&��&�\� T(N) = 2*T(N-1) j T(N-2) 
 ����%"*�	����&��&�\� G(N) = G(N-1) + G(N-2) *��� ����%ก����(�ก4I� T(N-1) �%��(�ก T(2) ��J�
�$���� G(N-1) 	�&)�  �% ก����(�ก T(N-2) �%��(�ก4I� T(2) ��J��$���� G(N-2) 	�&)� 
 *&��&)� G(N) = G(N-1) + G(N-2) 
 �'��� T(3) = 2*T(2) j T(1)  *&��&)� G(3) = 1 
  �% T(4) = 2*T(3) j T(2) *&��&)� G(4) = 1 + 1 = 2 
 G(5) = G(4) + G(3) = 2+ 1 = 3 
 G(6) = G(5) + G(4) = 3 + 2 = 5 
 *&��&)� 4�ก��9� T(6) �%�(ก����(�ก4I� T(2) #&)�9�* 5 	�&)� 
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